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General Instructions :
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(i)  All questions are compulsory.

(ii) Please check that this Question Paper contains 24 Questions.

(iii) Marks for each question are indicated against it.

(iv) Questions 1 to 5 are Very Short Answer type carrying 1 mark each.

(v)  Questions 6 to 10 are Short Answer-I Type questions carrying 2 marks each.
(vi) Questions 11 to 17 are Long Answer-I Type question carrying 3 marks each.
(vii) Questions 18 to 21 are Long Answer-II Type questions carrying 4 marks each.
(viii) Questions 22 to 24 are Essay Answer Type questions carrying 6 marks each.
(ix) Answer should be brief and to the point.

(x)  Please write down the serial number of the Question before attempting it.

“feTsht T AT IS Yok | I MY |

Distinguish between ‘Sales Tax’ and ‘Excise Duty’.

TS <l T A & 2

What is meant by ‘Employment’ ?

faferer gameRoy o1 27 ST |

Give the meaning of ‘Legal Environment.’



4. TE ITTHAT A 98 UiehAT & T 5T Ueh ST foeR ol Ush 30T B uRafad fear s &
STt anfoTiges gt &1 1” WfshaT st Uga iy | 1

‘It is the process of entrepreneurship which involves the translation of a useful idea

into an application which has commercial value.” Identify the process.

5. Vg fORIEEH B Us HARSTh UTeh I& AT 91edl © | 39k feTT 50 °IRg $0d o e
SMETIAHAT TS | T IUHH i [l TN & ot Tget e T e & geeh &,

3Yhl A Jdrsu | 1

Rahul wants to start an amusement park near Vishakhapattanam. This will require an
investment of ¥ 50 lakhs. Name the financial institution which Rahul should approach

for financing this venture.

6. A& FUR & e o (b=l a1 [l 1 Seoid HivT | 2

State any two points of importance of ‘Goal Setting’.

7. e (A o Al o 9 H CHT (uRer q9r wwg fHyRor o e i | 2

Give the meaning of ‘Routing’ and ‘Scheduling’ as elements of operational plan.

8.  TIRS T TUI TqAT WIEH RIS o il o foIw Tpet o o1 70T X T Ueh HREHT I&
feram 1| 3T % 2,00,000 W& Ferer R @2 % 10,00,000 T S & 0T for@m | 39 SR
FRT TR o TeTeid & 3Tevae G2 Feel Sl fowga aisr o |

SRIFT S8 H Ifad “SaqIaeh S’ % AT S T@d HiT a7 $qe THeEy | 2

Gaurav started a factory for manufacturing bags for the students of nursery and
primary classes. He invested ¥ 2,00,000 of his own and obtained a loan of ¥ 10,00,000
from bank. He made the instruction plan describing the details that were needed for the

operation of machines by the workers.

Identify and explain the format of ‘business plan’ described in the above para.
98/1 3 [P.T.O.
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With its help the consumers are able to identify the products of a firm and are also able
to differentiate them from those of the competitors. Identify the concept and state its

components.

IH AEGNGH GIST & A0 TUT YA ST (5698 99 e & 1 Sige Wifdd &idar & |
TR e & TH WeY hi Ush 3T {a9ivdr s Sooi@ hifsT |

Name and define the form of business organization in which the liability of its

members is limited. State one more feature of this form of business organization.

TSI ¥ 1 M € 2 39 fohel T SUANT 1 Sooid ShiteTd ool Ush 3SEL0r |
T |

What is meant by “Problem Identification” ? State its any four uses and also give an

example.

TS U [Iug STMEAT o 69 37T 1281 Tl ST Y o IR [ J SO @
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After passing his 12" class with entrepreneurship as an elective subject ‘Guru’ started
his own business. He invested I 2,00,000 as capital which was given to him by his
father. He obtained a loan of ¥ 1,00,000 from his elder brother Ravi, who was working
as an assistant manager in Bank of Baroda. In the first year he incurred a loss of
% 50,000 and had to pay to his suppliers their outstanding bills. This created a financial
problem for him and he had to take a loan of ¥ 1,00,000 from the Bank of Baroda on
the personal guarantee of his brother. He started doing hard work, lowered the prices
and informed his customers about the qualities of goods sold by him. Because of this

the sales increased four times and he earned a net profit of ¥ 75,000 in the second year.
(a) Identify the form of business organization started by “Guru”.

(b) State any five features of such a form of business organisation.

13. U ‘37 UGHIMHUT o ATHT T Sooid ity | 3

State the advantages of ‘Good Negotiations’.

14, Fafy= Tl & folT fafe=T Uehr ol iHeRT M9 & HROT Ush Jok i stelegeren | FHofia
& & AT a7 AT T 2 IR ISR STURE™ € I 38 o % A9 | vl &
ToTT ¥R IR o e i Ty | 3
‘For the smooth and orderly functioning of corporate sector in a free market economy,
stock exchanges are indispensable because of different roles played by them for
different groups.” Explain the importance of stock exchange to investors in the light of

this statement.

15. < HE =R LT THE % T Feh? AR & | 31 T, 2014 H A g€ a9 H 344
3 400 U AT B 5T I 8,000 FHHST bl foIshl BT | S S TAT T AT B Y AN I
2,000 Ufd TS & | Tieh bl T I AN T 500 Ui a9 & | S et @R % ferw e
STSST AT <l TTUFET HITT | 3

‘The Fancy Store’ a readymade garments retail shop sold 8,000 shirts at ¥ 400 per shirt

during the year ended 31% March, 2014. Cost of placing an order and receiving goods
is ¥ 2,000 per order. Inventory holding cost is ¥ 500 per year. Calculate the ‘Economic
Order Quantity’ for ‘The Fancy Store’.
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Naveen after completing his M. Tech in Nano Technology wanted to start his own
business. He thought to manufacture sophisticated instruments used in surgery. He
knew that his knowledge of Nano Technology will help him in manufacturing these
instruments. According to him such instruments will help the surgeons to operate upon
the patients with accuracy, with minimum blood loss and quick post operation
recovery. Such types of instruments are used in advanced countries only and there was
a risk in marketing the same. The cost price of machinery required, for manufacturing
such instruments was very high and more research was required in this field of Nano
Technology. For seed funding, Naveen approached. ‘Himani Capital Ltd.” who finance
such types of projects. ‘Himani Capitals Ltd.” after analysing the proposal agreed to
provide seed capital to Naveen.

Explain the different stages of ‘Early stage financing’ to seek venture capital finance
after the one discussed above.

TR AR givea fafges” ot 35 R At el o (T € | BT | U TS a9 B
! T 1 faehrg 6T &, S 7 sheel %A STel 1 §ge7 STel | Relfda sedt & st e
SUfErd SERREr T 3171 THAMEES eAstar Bt off IR & | AT 5 39 U 5 B B
T o A et {IC @ & a3 e o forg 391 T | fesharett s e e € |
HEAT 7 A A A IFE HI A B ST o6 I | W& Sl Frad H a2l 3¢
T TRIEH % o0 U o % Foa femhaneti st artiera o fvar & |

(%) HIAT GRT STARN TS U g AT T AT TATST T2 SHh! THAET |

@) HEET GRT SUANT {63 T faawor A ot vge ot Hig |
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‘Pure Neer India Ltd.” is the manufacturers of water purifiers. The company has
developed a new water purifier that not only converts the hard water into soft water
but also kills the bacteria and other harmful micro organisms present in it. The
company has named this water purifier as ‘Nirmal Neer’ and for its marketing,
appointed salesmen throughout the country. The company also trained the salesmen to
provide information about the usefulness of the ‘Nirmal Neer’ water purifiers to the

customers and motivate them to buy the same.
(a) Name and explain the ‘type of promotion strategy’ adopted by the company.

(b)  Also identify the channel of distribution used by the company.

“YGTEROT bl GeH Sira o felq Ge fafi=T Sidi & Ushiad ot ST Tl & 1 TR bl o &
H 3o HIT |

‘Information for environmental scanning can be collected from several sources.” State

any four such sources.

31T TH.HM. Hf Tgre e favafarmerd e Jeer, ¥ I &3 & Uvar ShiHe e
TRV & =R 576t & 370 Tt oo 9eft T8 | 98 YU g i AiEere % fow § aee
I Al ot | T 3EA Ueh WS ST Rl WS e i Wl Afeenrs B @ieww
YR W hael T 500 o TRT 1 JTAF FZA T IUCTH oY, ST 3! Usil /AN ST | HHe
1 AT o7 foF 3qep Tie St G ATt et Uil Bt T % folT Suge ot | 3T 3 T
TS % GI@ Hl 37h Tl H T P [T90T o GRIEEH 7o Gerdar 9 S g o
% o wicated fohar | g8 oft forg forar e foF Se, Ueish 98w Sl weT S TR 31X
3T TATRAT T ATl HAET T Tgd 3T Jod U S ST @ gRT SAKAT © F 9T
TEl o1 | e H T I29T A 3T A Tl T Tk I Bl Holl UG BT T |
AT & SR e % ol ASh-ASIHAT o [T HIAA & ANGYA H TH HHX s &
foparr T |

() 3T UHAT I Tgd DT TG HHeT o foaR T 3T § s5ei H Feradl @i |
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After doing her M.Com. from ‘Himachal Pradesh University of Shimla’, Komal went
back to her village in Kinnaur district of Himachal Pradesh. She wanted to contribute
for the development of women of her village, so she formed an organization, the
membership of which was open for all the women villagers on voluntary basis by
paying ¥ 500 only which will be treated as their capital. Komal knew that the land of
her village was suitable for the farming of medicinal plants. So she motivated the
members of her organizations for growing medicinal plants in their fields under the
guidance and help of the local agricultural department. It was also decided that the
organization will purchase the produce of each member and sell the same to drug
manufacturing companies, at a very good price which was not possible for the
members individually. The main objective of the organisation is to render services to

its members rather than to earn profit.

A computer training centre for young boys and girls of the village was started under

the guidance of Komal from the surplus of the profits.
(a) Name the process that helped Komal in developing an idea into an opportunity.
(b) Identify the kind of organization that was formed by Komal.

(c) State any two values which Komal wanted to communicate to the society.

A gfean fefiee fafa=T eepr & <etifasmi & faiar & | 7 g & omeR W wiaar
SIS ettt del ol “GH-[aeg T i T0FT ST

oA
Jolfos Gl Wi TohrS Tashe T ST It HE =
FHR () RGN AT AT
3 4 4
24" 5,000 2,000 4,000
32" 10,000 7,000 6,000
36" 15,000 12,000 8,000
42" 20,000 14,000 9,000



‘Nomy India Ltd.” are the producers of different sizes of televisions. From the
information given below, calculate the ‘Break-Even Quantity’ of the T.V. sets
manufactured per month.

Informations :
Size of T.V. sets  Unit selling price Unit variable cost Fixed expenses per month

L4 L4 L4
24" 5,000 2,000 4,000
32" 10,000 7,000 6,000
36" 15,000 12,000 8,000
42" 20,000 14,000 9,000

21. Tumet 15 oot @ <)iq fatgee ®Ri % i & qor ot oy fead R W & | e & |
TG TSI & SAfaehatetl gRT A=A 3Mfd & HROT AT Aeeh sl HRIT st IS Tal T
TS | UMeehl = ST SfhTT I& T T 1 7S (ehTT g HH g5 | HP HRUT SHRI bl {oeh e
AT | HHT 3T TE | HT TS o FHTS T [O9etsuT fohaT T2 37 11 ®HT I ST e
1 o o e SRor gt 300 g ot | 39H ¥ US 9% ot S ST i IS h
3MYTT T TET off TAT T o8 ST <TART bt S Y @ ol | BT = 370 Weshi & fold 78
BT AN o STRY | T8 Hioal & 3TET q1 ST & &3 & WE FH & [T 200
SIS TTEoh-cTeiohal bt off 1ehal OX W@ ol Tuig fohar o1 STy JeiieT ol SUFRT et
TT qHE T 6T HEAT 4T |

@) STH OUvH 9 Jg e T B 3 TTURUNST i Ted Hivete, el =T STRie
ATHT U H TR |
(@) T UH oo ot Ted ol Dy o ST fAfee” FHIsT sl Wi er =l ¢ | 4

‘Jagriti Ltd’ are the manufacturers of Cars for the last 15 years and was earning good

profits. Recently, due to the irregular supply of parts by the suppliers the company
could not make timely delivery of cars to its customers. The customers cancelled their
bookings and there were very few new bookings. As a result the sale of the cars
declined and also the profits. The management of the company analysed the problems
and decided to take over those two firms because of whom the problems arose. One of
them was supplying engines and the other tyres. The company also launched new
discount schemes for its customers. It also decided to employ 200 unemployed young
boys and girls to take up the cleaning operations using imported machines inside the
factories as well as the surrounding areas.

(a) Identify and state the concept of ‘Enterprise Marketing and Growth Strategies’
discussed in the above para.

(b) Identify any one value which ‘Jagriti Ltd” wanted to communicate to the society.

98/1 9 [P.T.O.



22.

23.

98/1

50 TN § ST i Taehiad hieh “TaaRi ol gedf st Uishar ol el =T ST el &
T e 3T TIT Graurses 93 & & &9 H H i € |

(F) ST Ul H Steciiad SR i Jd Hiey |
(@) TedH I TS FTUROT & fohel i Bal I GHSET T WA Uh STH §RT fohar

e |

‘The process of generation of ideas’ can be streamlined by developing an awareness

about it and these work as the convenient frames of references for this.
(a) Identify the concept stated in the above lines.

(b) Explain any three sources of the concept identified which are used by an

Entrepreneur.

T BTET o A W IS F T TS W T 25,00,000 T e Ush TR Tl | S8
% 10,00,000 T 3 Faer fo6a @2 3 15,00,000 T ST 56 F 6% oM i 3T T 807 forar |
IHH TIEH A 3 X 17,00,000 T 5= T A B AR X 9,00,000 & | FE 3
FHH=RET i T 3,00,000 AT S 6T YA HAT & | S 5 25% & |

! TSI & forw Fefafaa & o A
(%) ow W vemE a9
(@) THAT W T |

Raj Singh has started a restaurant on a National Highway in the name of ‘Desi Dhaba’
by spending ¥ 25,00,000. He invested I 10,00,000 of his own and took a loan of
T 15,00,000 from Dena Bank, @ 6% per annum. His monthly sales revenue is
% 17,00,000 and cost of goods sold is ¥ 9,00,000. He pays monthly salary of
T 3,00,000 to his employees. The tax rate is 25%.

You are required to calculate :
(a) Return on Investment and
(b) Return on Equity for Raj Singh.

10
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T ST, Bl TEl U UTEg WHRT HichST § Y A & U 99 7 310 IR kA
fafiT=1 TeTTehl | SR Y 3T M Gl | T THMT bt THeAT I URT Bl 3T 370 5T &
fafir= w13l § . 3% g @ieT & | SWH! FelaA T Jod HH HEAT, et T Ty ot o

TS 9 A 37 TAT STRUATAT o Hehe FHIM Wiot i off | ST a5 & o1 I T fFar |
AR o8 SFIE™ & [§9 Uldied & @at B T FA & 6T g Y JA0 &= o 79l
T | THMT & FHHANET = UEhT U HH A {581 q°7 37h! FE07 sareen sgad afear o | 39
TR Hee & HRUT IH Tgd 314k SN & o1l T2 3k Faar fawhel & =T |

SR 3T & MR W T % FIG H [Therdl o IR HRUN Sl TgaH i qor 3
HHART |

Raghav after doing his B. Pharma. degree from a reputed government college started
two chemist shops in two different localities of his home town. Encouraged with the
success of these shops, he started six more shops in different cities of the State. His
strategy was to cut price, focus on lower and middle class patients and open shops near
hospitals. He operated on very thin margins. But he was not able to maintain sufficient
funds to meet the day to day expenses of the business. The staff of the shops did not
give much attention to the customers and there was very poor system of control.
Because of this mismanagement he started incurring huge losses and his business

failed.

Based on the above para identify and explain any four causes of business failure of

Raghav.
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